

ON CERTAIN DERIVATIVES OF THE I-FUNCTION OF TWO VARIABLES

¹Shantha Kumari K. and ²Vasudevan Nambisan T.M.

¹Research Scholar, SCSVMV, Kanchipuram and Department of Mathematics, P.A. College
of Engineering, Mangalore, Karnataka, INDIA

²Department of Mathematics, College of Engineering, Trikaripur, Kerala, INDIA
E-mails: ¹skk_abh@rediffmail.com / ²tmvasudevannambisan@yahoo.com

Abstract: In this paper we establish some differentiation formulas for the I-function of two variables recently defined by Shantha Kumari, et al. in [17]. A number of special cases of our results are also discussed.

Keywords: I-function, Mellin Barnes Contour integral, H-function.

1. Introduction

The well known H-function of one variable, introduced by [5] and studied by Braaksma [3] contains as particular cases most of the commonly used special functions of applied mathematics. But it does not contain some of the important functions such as the Riemann zeta functions, polylogarithms etc. By demonstrating several examples of functions which are not included in the Fox's H-function, in 1997, Rathie [16] introduced a new function in the literature namely the "I-function" which is useful in Mathematics, Physics and other branches of applied mathematics. The newly defined function contains the polylogarithms, the exact partition of Gaussian free energy model from statistical mechanics, Feynmann integrals and functions useful in testing hypothesis from statistics as special cases. Recently, the I-function introduced by Rathie [16] has found useful applications in wireless communications [2]. Motivated by this, very recently, Shantha Kumari et al. [17], introduced and studied, I-function of two variables which gives a natural generalization of the H-function of two variables introduced by Mittal and Gupta [13].

The I-function of two variables defined and studied by Shantha Kumari et al. [17] is represented by means of the double Mellin Barnes contour integral in the following manner.

*Received July 9, 2013 * Published August 2, 2013 * www.ijset.net*

$$\begin{aligned}
& I[z_1, z_2] \\
&= I_{p_1, q_1; p_2, q_2; p_3, q_3}^{0, n_1; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 \\ z_2 \end{matrix} \middle| \begin{matrix} (a_j; \alpha_j, A_j; \xi_j)_{1, p_1} : (c_j, C_j; U_j)_{1, p_2} ; (e_j, E_j; P_j)_{1, p_3} \\ (b_j; \beta_j, B_j; \eta_j)_{1, q_1} : (d_j, D_j; V_j)_{1, q_2} ; (f_j, F_j; Q_j)_{1, q_3} \end{matrix} \right] \\
&= \frac{1}{(2\pi i)^2} \int_{L_s} \int_{L_t} \phi(s, t) \theta_1(s) \theta_2(t) ds dt \tag{1.1}
\end{aligned}$$

where $\phi(s, t)$, $\theta_1(s)$ and $\theta_2(t)$ are given by

$$\phi(s, t) = \frac{\prod_{j=1}^{n_1} \Gamma^{\xi_j}(1 - a_j + \alpha_j s + A_j t)}{\prod_{j=n_1+1}^{p_1} \Gamma^{\xi_j}(a_j - \alpha_j s - A_j t) \prod_{j=1}^{q_1} \Gamma^{\eta_j}(1 - b_j + \beta_j s + B_j t)} \tag{1.2}$$

$$\theta_1(s) = \frac{\prod_{j=1}^{n_2} \Gamma^{U_j}(1 - c_j + C_j s) \prod_{j=2}^{m_2} \Gamma^{V_j}(d_j - D_j s)}{\prod_{j=n_2+1}^{p_2} \Gamma^{U_j}(c_j - C_j s) \prod_{j=m_2+1}^{q_2} \Gamma^{V_j}(1 - d_j + D_j s)} \tag{1.3}$$

$$\theta_2(t) = \frac{\prod_{j=1}^{n_3} \Gamma^{P_j}(1 - e_j + E_j t) \prod_{j=1}^{m_3} \Gamma^{Q_j}(f_j - F_j t)}{\prod_{j=n_3+1}^{p_3} \Gamma^{P_j}(e_j - E_j t) \prod_{j=m_3+1}^{q_3} \Gamma^{Q_j}(1 - f_j + F_j t)} \tag{1.4}$$

Also:

- $z_1 \neq 0$, $z_2 \neq 0$;
- $i = \sqrt{-1}$;
- an empty product is interpreted as unity;
- the parameters n_j, p_j, q_j ($j = 1, 2, 3$), m_j ($j = 2, 3$) are nonnegative integers such that $0 \leq n_j \leq p_j$ ($j = 1, 2, 3$), $q_1 \geq 0$, $0 \leq m_j \leq q_j$ ($j = 2, 3$) (not all zero simultaneously);
- α_j, A_j ($j = 1, \dots, p_1$), β_j, B_j ($j = 1, \dots, q_1$), C_j ($j = 1, \dots, p_2$), D_j ($j = 1, \dots, q_2$), E_j ($j = 1, \dots, p_3$), F_j ($j = 1, \dots, q_3$) are assumed to be positive quantities for standardisation purpose;
- a_j ($j = 1, \dots, p_1$), b_j ($j = 1, \dots, q_1$), c_j ($j = 1, \dots, p_2$), d_j ($j = 1, \dots, q_2$), e_j ($j = 1, \dots, p_3$) and f_j ($j = 1, \dots, q_3$) are complex numbers;
- The exponents ξ_j ($j = 1, \dots, p$), η_j ($j = 1, \dots, q$), U_j ($j = 1, \dots, p_2$), V_j ($j = 1, \dots, q_2$), P_j ($j = 1, \dots, p_3$), Q_j ($j = 1, \dots, q_3$) of various gamma functions involved in (1.2), (1.3) and (1.4) may take non-integer values.
- L_s and L_t are suitable contours of Mellin - Barnes type. Moreover, the contour L_s is in the complex s-plane and runs from $\sigma_1 - i\infty$ to $\sigma_1 + i\infty$ (σ_1 real) so that all the singularities of $\Gamma^{V_j}(d_j - D_j s)$ ($j = 1, \dots, m_2$) lie to the right of L_s and all the singularities of $\Gamma^{U_j}(1 - c_j + C_j s)$ ($j = 1, \dots, n_2$), $\Gamma^{\xi_j}(1 - a_j + \alpha_j s + A_j t)$ ($j =$

1, ..., n₁) lie to the left of L_s. The other contour L_t follows similar conditions in the complex t-plane.

The function defined by (1.1) is an analytic function of z₁ and z₂ if

$$(i) R = \left[\sum_{j=1}^{p_1} \xi_j \alpha_j + \sum_{j=1}^{p_2} U_j C_j - \sum_{j=1}^{q_1} \eta_j \beta_j - \sum_{j=1}^{q_2} V_j D_j \right] < 0 \tag{1.5}$$

$$(ii) S = \left[\sum_{j=1}^{p_1} \xi_j A_j + \sum_{j=1}^{p_3} P_j E_j - \sum_{j=1}^{q_1} \eta_j B_j - \sum_{j=1}^{q_3} Q_j F_j \right] < 0 \tag{1.6}$$

Further, the integral (1.1) is convergent if

$$(iii) \Delta_1 = \left[\sum_{j=1}^{n_1} \xi_j \alpha_j - \sum_{j=n_1+1}^{p_1} \xi_j \alpha_j - \sum_{j=1}^{q_1} \eta_j \beta_j + \sum_{j=1}^{n_2} U_j C_j - \sum_{j=n_2+1}^{p_2} U_j C_j + \sum_{j=1}^{m_2} V_j D_j - \sum_{j=m_2+1}^{q_2} V_j D_j \right] > 0 \tag{1.7}$$

$$(iv) \Delta_2 = \left[\sum_{j=1}^{n_1} \xi_j A_j - \sum_{j=n_1+1}^{p_1} \xi_j A_j - \sum_{j=1}^{q_1} \eta_j B_j + \sum_{j=1}^{n_3} P_j E_j - \sum_{j=n_3+1}^{p_3} P_j E_j + \sum_{j=1}^{m_3} Q_j F_j - \sum_{j=m_3+1}^{q_3} Q_j F_j \right] > 0 \tag{1.8}$$

$$(v) |arg(z_1)| < \frac{1}{2} \Delta_1 \pi \text{ and } |arg(z_2)| < \frac{1}{2} \Delta_2 \pi \tag{1.9}$$

A detailed account of this function and its convergence conditions can be found in the paper [17].

2. Notations and Results used:

Throughout this paper D_x represents $\frac{d}{dx}$.

$$D_x^r f(x) = \frac{d^r}{dx^r} f(x) \tag{2.1}$$

$$(x D_x)^r f(x) = \left(x \frac{d}{dx} \right)^r f(x) \tag{2.2}$$

$$(D_x x)^r f(x) = \left(\frac{d}{dx} x \right)^r f(x) \tag{2.3}$$

where the operator x D_x means the function of x in front of it is differentiated with respect to x and then multiplied by; (x D_x)^r means that the operation by x D_x is repeated r times;

$D_x x$ will mean that the function of x in front of it is first multiplied by x and then the product is differentiated with respect to x ; D_x^r will mean that the operation by D_x is repeated r times.

In this paper for the sake of brevity we shall use the following contracted notation for I- function of two variables.

$$\bar{I}[z_1, z_2] = I_{p_1, q_1; p_2, q_2; p_3, q_3}^{0, n_1; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 | \mathcal{A} : \mathcal{C} ; \mathcal{E} \\ z_2 | \mathcal{B} : \mathcal{D} ; \mathcal{F} \end{matrix} \right] \tag{2.4}$$

where

\mathcal{A} stands for $(a_j; \alpha_j, A_j; \xi_j)_{1, p_1}$, \mathcal{B} stands for $(b_j; \beta_j, B_j; \eta_j)_{1, q_1}$

\mathcal{C} stands for $(c_j, C_j; U_j)_{1, p_2}$, \mathcal{D} stands for $(d_j, D_j; V_j)_{1, q_2}$

\mathcal{E} stands for $(e_j, E_j, P_j)_{1, p_3}$, \mathcal{F} stands for $(f_j, F_j; Q_j)_{1, q_3}$

3. Main Results

In this section we have obtained the following three differentiation formulas.

Formula 1

$$\begin{aligned} & D_x^r \{ x^\lambda I[z_1 x^{h_1}, z_2 x^{h_2}] \} \\ &= x^{\lambda-r} I_{p_1+1, q_1+1; p_2, q_2; p_3, q_3}^{0, n_1+1; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} | (-\lambda; h_1, h_2; 1), \mathcal{A} & : \mathcal{C} ; \mathcal{E} \\ z_2 x^{h_2} | \mathcal{B}, (r - \lambda; h_1, h_2; 1) & : \mathcal{D} ; \mathcal{F} \end{matrix} \right] \end{aligned} \tag{3.1}$$

for $h_1 > 0, h_2 > 0$ and $\lambda \in \mathbb{C}$.

Formula 2

$$\begin{aligned} & (x D_x - k_1) \dots (x D_x - k_r) \{ x^\lambda I[z_1 x^{h_1}, z_2 x^{h_2}] \} \\ &= x^\lambda I_{p_1+r, q_1+r; p_2, q_2; p_3, q_3}^{0, n_1+r; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} | (k_j - \lambda; h_1, h_2; 1)_{1,r}, \mathcal{A} & : \mathcal{C} ; \mathcal{E} \\ z_2 x^{h_2} | \mathcal{B}, (1 + k_j - \lambda; h_1, h_2; 1)_{1,r} & : \mathcal{D} ; \mathcal{F} \end{matrix} \right] \end{aligned} \tag{3.2}$$

where $\lambda, k_j \in \mathbb{C} (j = 1, \dots, k)$ and h_1, h_2 are real and positive.

Formula 3

$$\begin{aligned} & (D_x x - k_1) \dots (D_x x - k_r) \{ x^\lambda I[z_1 x^{h_1}, z_2 x^{h_2}] \} \\ &= x^\lambda I_{p_1+r, q_1+r; p_2, q_2; p_3, q_3}^{0, n_1+r; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} | (k_j - \lambda - 1; h_1, h_2; 1)_{1,r}, \mathcal{A} & : \mathcal{C} ; \mathcal{E} \\ z_2 x^{h_2} | \mathcal{B}, (k_j - \lambda; h_1, h_2; 1)_{1,r} & : \mathcal{D} ; \mathcal{F} \end{matrix} \right] \end{aligned} \tag{3.3}$$

where $\lambda, k_j \in \mathbb{C} (j = 1, \dots, k)$ and h_1, h_2 are real and positive.

Proofs:

To prove (3.1), express the left hand side of (3.1) using the contour integral (1.1), to obtain

$$L.H.S. = \left(\frac{d}{dx}\right)^r \left\{ x^\lambda \frac{1}{(2\pi i)^2} \int_{L_s} \int_{L_t} \phi(s,t) \theta_1(s) \theta_2(t) (z_1 x^{h_1})^s (z_2 x^{h_2})^t ds dt \right\} \tag{3.4}$$

where $\phi(s,t)$, $\theta_1(s)$ and $\theta_2(t)$ are given by (1.2), (1.3) and (1.4) respectively.

Operating under the integral sign, the expression becomes

$$= \frac{1}{(2\pi i)^2} \int_{L_s} \int_{L_t} \left\{ \phi(s,t) \theta_1(s) \theta_2(t) z_1^s z_2^t \times \prod_{j=0}^{r-1} (\lambda + h_1 s + h_2 t - j) x^{\lambda+h_1 s+h_2 t-r} \right\} ds dt \tag{3.5}$$

Now it is easy to see that

$$\prod_{j=0}^{r-1} (\lambda + h_1 s + h_2 t - j) = \frac{\Gamma(1 + \lambda + h_1 s + h_2 t)}{\Gamma(1 + \lambda - r + h_1 s + h_2 t)} \tag{3.6}$$

Using (3.6) in (3.5) and interpreting the with the help of (1.1), the result follows.

To prove (3.2), express the left hand side using the contour integral (1.1), to obtain

$L.H.S. =$

$$\prod_{j=1}^r (x D_x - k_j) \left\{ x^\lambda \frac{1}{(2\pi i)^2} \int_{L_s} \int_{L_t} \phi(s,t) \theta_1(s) \theta_2(t) (z_1 x^{h_1})^s (z_2 x^{h_2})^t ds dt \right\} \tag{3.7}$$

where $\phi(s,t)$, $\theta_1(s)$ and $\theta_2(t)$ are given by (1.2), (1.3) and (1.4) respectively.

Operating under the integral sign, the expression becomes

$$= \frac{1}{(2\pi i)^2} \int_{L_s} \int_{L_t} \left\{ \phi(s,t) \theta_1(s) \theta_2(t) z_1^s z_2^t \times \prod_{j=1}^r (\lambda - k_j + h_1 s + h_2 t) x^{\lambda+h_1 s+h_2 t} ds dt \right\} \tag{3.8}$$

writing $\prod_{j=1}^r (\lambda - k_j + h_1 s + h_2 t)$ as $\prod_{j=1}^r \frac{\Gamma((\lambda - k_j + 1 + h_1 s + h_2 t))}{\Gamma((\lambda - k_j + h_1 s + h_2 t))}$ and interpreting with the help of (1.1), the result follows.

The proof of (3.3) is same as that of (3.2).

4. Special cases

(i) When $k_1 = k_2 = \dots = k_r = 0$ in (3.2) we get

$$(x D_x)^r \left\{ x^\lambda I [z_1 x^{h_1}, z_2 x^{h_2}] \right\}$$

$$= x^\lambda I_{p_1+r, q_1+r; p_2, q_2; p_3, q_3}^{0, n_1+r; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \middle| \begin{matrix} (-\lambda; h_1, h_2; 1)_{1,r}, \mathcal{A} & : \mathcal{C}; \mathcal{E} \\ \mathcal{B}, (1-\lambda; h_1, h_2; 1)_{1,r} & : \mathcal{D}; \mathcal{F} \end{matrix} \right] \quad (4.1)$$

for $h_1 > 0$, $h_2 > 0$ and $\lambda \in \mathbb{C}$.

(ii) When $k_1 = k_2 = \dots = k_r = 0$ in (3.3) we get

$$(D_x x)^r \{ x^\lambda I [z_1 x^{h_1}, z_2 x^{h_2}] \} \\ = x^\lambda I_{p_1+r, q_1+r; p_2, q_2; p_3, q_3}^{0, n_1+r; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 x^{h_1} \\ z_2 x^{h_2} \end{matrix} \middle| \begin{matrix} (-\lambda - 1; h_1, h_2; 1)_{1,r}, \mathcal{A} & : \mathcal{C}; \mathcal{E} \\ \mathcal{B}, (-\lambda; h_1, h_2; 1)_{1,r} & : \mathcal{D}; \mathcal{F} \end{matrix} \right] \quad (4.2)$$

for $h_1 > 0$, $h_2 > 0$ and $\lambda \in \mathbb{C}$.

(iii) If we take $p_1 = q_1 = n_1 = 0$ and $z_2 \rightarrow 0$ in (3.1) to (3.3), we get the corresponding results involving I-functions established by Vyas and Rathie [19].

(iv) When all the exponents $\xi_j (j = 1, \dots, p_1)$, $\eta_j (j = 1, \dots, q_1)$, $U_j (j = 1, \dots, p_2)$, $V_j (j = 1, \dots, q_2)$, $P_j (j = 1, \dots, p_3)$, $Q_j (j = 1, \dots, q_3)$ of various gamma functions involved in (1.2), (1.3) and (1.4) are equal to unity, (3.1) to (3.3) gives the differentiation formulae for H - function of two variables defined by Mittal and Gupta [13]. Further by taking $p_1 = q_1 = n_1 = 0$, $z_2 \rightarrow 0$ and specializing the parameters, (3.1), (3.2) & (3.3) gives the differentiation formulas for H - function established by Gupta, K.C. et al. [6] and Nair [14] respectively.

References

- [1] Agarwal, R.P., An extension of Meijer's G-function, Proc. Nat. Inst. Sci. India, Part A, 13, 536-546, (1965)
- [2] Ansari, I.S., Yilmaz, F. and Alouni, M.S., On the sum of squared n - μ Random variates with application to the Performance of Wireless Communication Systems, arxiv: 1210.0100v1 [cs.IT] 29, Sep 2012.
- [3] Braaksma B.L.J., Asymptotic expansions and analytic continuations for a class of Barnes-integrals, Compositio Math. 15, 239-341, (1964).
- [4] Erdelyi A.: Higher Transcendental Functions, Vol. I, McGraw-Hill Book Company, New York. (1953).
- [5] Fox, C. The G and H-functions as symmetrical Fourier kernals, Trans. Amer. Math. Soc. 98, 395-429, (1961).
- [6] Gupta K.C. and Jain U.C. On the derivative of the H-function, Proc. Nat. Acad. Sci. India Sect. A 38(1968), 189-192.

- [7] Gupta.K.C., Jain Rashmi and Rajani Agrawal, On existence conditions for a generalized Mellin - Barnes type integral, Natl Acad Sci Lett, 30(5,6), 169-172, (2007).
- [8] Gupta. K.C. and Mittal P.K., Integrals involving a generalised function of two variables, Indian J. Pure Appl. Math. 5, 430-437, (1974).
- [9] Goyal. S.P., The H-function of two variables , Kyungpook Math.J. , 15, no.1, 117-131, (1975).
- [10] Kilbas, A.A. and Saigo, M, H-transforms: Theory and applications, Boca Raton - London - New York- Washington, D.C. : CRC Press LLC, (2004).
- [11] Luke. Y.L., The Special Functions and their Approximations, Vol. 1, Academic Press, New York, (1969).
- [12] Mathai. A.M., Saxena R.K., Haubold. H.J.: The H - function, Theory and Applications, Springer, (2009).
- [13] Mittal, P.K. and Gupta, K.C.: An integral involving generalized function of two variables, Proc. Indian Acad. Sci., sect. A. 75, 117-123, (1972).
- [14] Nair, V.C. Differentiation formulae for the H - function I, Math. Student, 40A, 74-78, (1972).
- [15] Rainville, E.D. Special Functions, Macmillan Publishers, New York, (1963).
- [16] Rathie, Arjun K. A new generalization of generalized hypergeometric functions, Le Matematiche Vol. LII. Fasc. II, 297 - 310, (1997).
- [17] Shantha Kumari. K, Vasudevan Nambisan, T.M. and Arjun K. Rathie, A study of I-functions of two variables, arXiv: 1212.6717v1 [math.CV], 30 Dec 2012.
- [18] Srivastava. H.M., Gupta K.C., Goyal S.P., The H - functions of one and two variables with applications, South Asian Publishers, New Delhi.(1982).
- [19] Vishwa Mohan Vyas and Arjun K. Rathie, A Study of I-function - II, Vijnana Parishad Anusandhan Patrika, Vol.41, 4, 253-257, (1998).